/INFEEHE B F100m

BN (KE)
2 ELEE (GR)

M PR Gtk k)
OHER R (91 A B )

2006
2000

*OH K
FOEREAT -

10H4H
1074H

TR 2fH2% +4

1#H (R\:+1.7)

EAE V= fon = K4 W iz Algk /b
1 6 1473 Pram (5) Yovh 7ytA ket 15. 18 Q
2 8 1298 —H (5) ) R = 15. 45 Q
3 4 1529 R (5) AVAS S VN FEFSC 15. 72 q
4 7 2065 &K (5) VAVESEYL —E/h 16. 50
5 9 1526 H.5 (5) Thh™ T Ay FIEFSC 16. 77
6 5 1327 bEAT (5) ~YHE aux PRk /) 16. 85

2#E (8 +0. 5)

JIEGE V= fun = K4 kA P& ALK
1 4 1522 A (5) UFE hAtA FREFSC 14. 87 Q
2 7 1388 HI2F (5) A%hT )V} Y.W.C 15. 38 Q
3 8 1296 7514 (5) Frye wt = peE b 15. 46 q
4 9 1524 K (5) AT ATk FIEFSC 15.92 a
5 6 2243 ENG)) A hop A g H [ 16. 08 q
6 5 1527 —1pL (5) A VA FIEFSC 16. 22



